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Abstract

Two plans of parameter are introduced to the Saltzman's M odel to inprove its prop—
erties. One is aerosol parameter and the other is cloud. The solutions show that both
plans overcome the sortcoming of Saltzman's M odel which the difference between its two
stead states is only 0.0012 K. The numerical experiment shows that there exists two e—
quilibrium states, and the icecover will incress in an ex ponential form with the incressing
of aerosol.

Key words: M odel, Aerosol, Feedback mechanism of cloud, Equilibrum states.
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